

Escriu el resultat de les següents operacions.

Si vols fer-ho com a classe has d'aconseguir fer-les en 2 minuts.

SUMES

$2 + 3 =$

$2 + 2 =$

$2 + 0 =$

$2 + 1 =$

$2 + 4 =$

$2 + 3 =$

$2 + 1 =$

$2 + 2 =$

$2 + 3 =$

$2 + 4 =$

$2 + 3 =$

$2 + 0 =$

$2 + 4 =$

$2 + 2 =$

$2 + 1 =$

$1 + 5 =$

$1 + 2 =$

$1 + 3 =$

$1 + 2 =$

$1 + 1 =$

$1 + 4 =$

$1 + 2 =$

$1 + 5 =$

$1 + 3 =$

$1 + 0 =$

$1 + 2 =$

$1 + 3 =$

$1 + 5 =$

$1 + 1 =$

$1 + 2 =$

$3 + 3 =$

$3 + 1 =$

$3 + 0 =$

$3 + 2 =$

$3 + 3 =$

$3 + 2 =$

$3 + 1 =$

$3 + 3 =$

$3 + 2 =$

$3 + 0 =$

$3 + 3 =$

$3 + 1 =$

$3 + 4 =$

$3 + 2 =$

$3 + 0 =$

$4 + 2 =$

$4 + 0 =$

$4 + 1 =$

$4 + 3 =$

$4 + 2 =$

$4 + 1 =$

$4 + 4 =$

$4 + 3 =$

$4 + 1 =$

$4 + 0 =$

$4 + 4 =$

$4 + 5 =$

$4 + 2 =$

$4 + 1 =$

$4 + 3 =$

Escriu el resultat de les següents operacions.

Si vols fer-ho com a classe has d'aconseguir fer-les en 2 minuts.

RESTES

$4 - 3 =$

$3 - 0 =$

$4 - 1 =$

$3 - 3 =$

$4 - 1 =$

$3 - 2 =$

$2 - 2 =$

$1 - 1 =$

$4 - 2 =$

$3 - 2 =$

$3 - 1 =$

$2 - 1 =$

$3 - 3 =$

$1 - 0 =$

$4 - 2 =$

$5 - 1 =$

$4 - 4 =$

$4 - 2 =$

$5 - 2 =$

$2 - 1 =$

$4 - 3 =$

$3 - 2 =$

$2 - 0 =$

$5 - 4 =$

$2 - 2 =$

$3 - 1 =$

$5 - 3 =$

$4 - 0 =$

$3 - 1 =$

$4 - 1 =$

$6 - 2 =$

$5 - 1 =$

$4 - 1 =$

$3 - 2 =$

$5 - 4 =$

$6 - 3 =$

$5 - 2 =$

$4 - 3 =$

$6 - 4 =$

$3 - 2 =$

$5 - 3 =$

$4 - 1 =$

$4 - 2 =$

$6 - 5 =$

$4 - 4 =$

$4 - 3 =$

$6 - 6 =$

$5 - 0 =$

$4 - 2 =$

$6 - 5 =$

$5 - 2 =$

$4 - 4 =$

$3 - 1 =$

$6 - 3 =$

$5 - 5 =$

$6 - 4 =$

$4 - 2 =$

$5 - 4 =$

$6 - 1 =$

$3 - 2 =$